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SN BHALANYL 22T
HE: NYCHEYRNVE(+ELLS/E2)
o9l CRNEYSS Rk
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
ZEALALL SRX L 26,017,661 31,268,973 A5,251,312
2 1,080,000
= 24,937,661
NS EHEURNR 2 (SSLDE/ER) 22,905,818 28,282,760 A5,376,942
= 1,080,000
= 21,825,818
cEnEyss 7,100,000 10,050,000 A2,950,000
M2l E =T 5,400,000 6,900,000 A1,500,000
401 AlEHIL2 0] 5,400,000 6,900,000 A1,500,000
01 Al&H] 5,349,000 6,769,000 21,420,000
DA S SR AL Al S (HRRE 3,80,
000 21) 5,349,000
03 Al&=CH] 51,000 131,000 80,000
DA SR T IAR A& 2] 51,000
nEAssL 1,700,000 3,150,000 A1,450,000
401 AlEHILL o 1,700,000 3,150,000 A1,450,000
01 Al&H] 1,693,000 3,116,000 A1,423,000
ORSASHHAY ALY 1,693,000
03 A&l 7,000 34,000 A27,000
ORNEASHHAIY AL LY 7,000
NYE s el 7,027,818 6,633,460 394,358
TxTEs 1,465,000 1,610,000 A145,000
206 MEHI 15,000 10,000 5,000
T 15,000 10,000 5,000
DMz 8eszsY 15,000
401 AEHIL2 0 1,450,000 1,600,000 A150,000
01 Al&H] 1,435,000 1,504,240 159,240
T AT HH|AFRIAI &I 1,435,000
03 Al&=CHY] 15,000 5,760 9,240
OZ & HGI A A& 2] 15,000
SlalC 2)e 3,540,000 3,900,000 360,000
401 Al&HI L= 3,540,000 3,900,000 360,000
01 Al&H] 3,502,000 3,800,000 298,000
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BH: NYCHEUSKE(FELDE/C2)
e NgeE=mI2el (ctel: &
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
O/AE S 28 SIS AL Al A I 3,502,000
03 AIZ=C0HHI 38,000 100,000 262,000
OS2 SEMSAIS AL LI 38,000
ME==3% FSPNFSRSPN 482,818 523,460 A40,642
301 YotEaz 12,818 23,460 A10,642
09 SUZRRVELZ 12,818 23,460 210,642
s dsy) 80,000& x3H 122 2,880
=4l 5,000 *3H 255 3,825
(IME==ys] 2,500 x3H 255 1,913
E==FSela] 10,0003 x3E 120 3,600
o=l 100,000 3% «2=¢ 600
401 Al&HIZ2C04YI 470,000 500,000 230,000
01 Al&HI 465,000 496,400 A 31,400
OuSotEAIL A 465,000
03 AlZ=0HHI 5,000 3,600 1,400
OwSotEAIE & X2 5,000
TEREEES 1,270,000 300,000 970,000
401 Al &BIZ20HYI 1,270,000 300,000 970,000
01 A&l 1,261,000 297,840 963, 160
LAl & HI 1,261,000
OEE2FRXSEA Al 267,000
SRHELAFEANGSH T ZALS A S| 994,000
03 A=l 9,000 2,160 6,840
IPNR=ES ] 9,000
OEE2FAZTEEFAIL AL 20| 3,000
SRHLABRNGEHEZ AT A LR
a] 6,000
Tz 2ASE=Hl 270,000 300,000 230,000
401 Al &BIZ20HYI 270,000 300,000 230,000
01 A&l 267,000 297,840 230,840
OS2 A&l 267,000
03 Al&Z=0Hdl 3,000 2,160 840
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S22 A4 208l 3,000
AdsXtwES2e| o 2,160,000 6,260,000 24,100,000
= 1,080,000
& 1,080,000
FEETZRARINA 1,460,000 5,326,000 A3,866,000
= 730,000
& 730,000
401 A&HIZ20YI 1,460,000 5,326,000 A 3,866,000
iy 730,000
= 730,000
01 A&l 1,454,744 5,294,000 A3,839,256
OKIE8E2 2R Al 4| 1,454,744
s 727,372
& 727,372
03 Al&=C0HI 5,256 32,000 N26,744
OS2 2T A& 208 5,256
= 2,628
& 2,628
HelolES 9 700,000 934,000 A 234,000
s 350,000
& 350,000
401 Al&BIZL20HYI 700,000 934,000 A 234,000
= 350,000
= 350,000
01 Al&H| 695,590 927,000 A231,410
O 02529 Al &I 695,590
= 347,795
< 347,795
03 AlZ=0Hl 4,410 7,000 22,590
O 0IES I AIE2CHYI 4,410
s 2,205
& 2,205
nEord e 6,618,000 5,339,300 1,278,700
WEIHEMNE> 6,300,000 4,970,000 1,330,000
401 Al&BIZ20HYI 6,300,000 4,970,000 1,330,000
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01 Al&HI 6,256,000 4,862,400 1,393,600
OWEMHM(IHLEE 1,000,000& &) 5,565,000
OuzdIggeEs 691,000
03 AlZ=0idl 44,000 107,600 263,600
OWESIHE A AL 2 OH Y] 44,000
WO A 150,000 204,000 254,000
401 AIEHIZ S0 150,000 204,000 A54,000
01 AlI&HI 144,000 200,000 256,000
OugdyetdaltH 144,000
03 A& =0 6,000 4,000 2,000
O SFOHM R CHAI & 20| 6,000
wEFHLEAH 150,000 150,000 0
401 A& HIZL=2OY| 150,000 150,000 0
01 Al&HI 147,000 148,500 A 1,500
OnzdudE 147,000
03 AlZ=0idl 3,000 1,500 1,500
OnaddUE ALY 3,000
nESHNeEX LI 18,000 15,300 2,700
401 AIEHIZ=0Y] 18,000 15,300 2,700
01 Al&HI 17,000 15,000 2,000
OSdMetE XA 17,000
03 A4S0 1,000 300 700
DS MEtEXEHE X AL R0 1,000
HA 2 (LS SHA/JUHEHA) 248,826 248,982 N 156
OLSCTH2 & At2tel 248,826 248,982 N 156
BAANESmA 2 248,826 248,982 A 156
101 Q12| 14,586 12,102 2,484
10 JIZAH22ASES 14,586 12,102 2,484
OFAISZE A2 R
38,850 x6H 60! 13,986
[I2tAldl, R4 X E, 0=l 100,000 «6H 600
201 LEr=23H] 54,300 36,300 18,000
01 AtR2teld 300 300 0
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o9l OIS B ALZE (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
SEEFETI 300
ON4+ZUAHSHZSDS 300
02 ZZ=2YH 54,000 36,000 18,000
mPPEETIES T 54,000
OBSHAANSSN 3,000,0002*123] 36,000
OFAINL, HII, A8, SALE R 22
1,500,0002 *123] 18,000
206 T2l 2,940 2,800 140
L 2,940 2,800 140
BEEERIE= SR ES
210,0002 53] 1,050
IIHAESESHBE Y 315,0002 63| 1,890
307 eI2tolH 75,000 72,000 3,000
05 BIRISIE3 75,000 72,000 3,000
mEPS=T 75,000
401 ASHILLHY 102,000 125,780 £.23,780
01 Al&H] 102,000 125,780 223,780
ORI AS LSS E 4B A} 20,000
OB AEZ B AL0|AT A 15,000
OB ARSI 2t 4 2 ZHI B A 10,000
OB AHanRYH IS0 & X2 A 20,000
(224220 A ST B A 25,000
(A SEHYFDEI YIS 2e 12,000
HY2AAY (BALAYL S2X2)(IEHIIE 2,863,017 2,737,231 125,786
ol 2| 2,065,957 2,061,744 4,213
ol 2yl 2,065,957 2,061,744 4,213
101 Q12| 1,962,317 1,958, 104 4,213
01 JI=a 1,031,202 1,027,407 3,79
02 951,878
053 (3052) 2,961,3002 %12 *122 35,536
063 (2852) 2,395, 90021 6% * 122 72,505
073(1552) 1,862, 70020112 * 122 245,877
082 (1352) 1,583,300 *8% *12% 51,997
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M UHSIZH(SEALEAMLE L S2XL)(IIEHIIEH
=Pl o2l (298
SA - BE - BA(EA) - NRAY - BES 0 & o4 e HREY
OJls6=(2658) 2,485,400 x 18« 122 29,825
Ollsre(28&s) 2,295,300 »2& «12& 55,088
OJl=8=2(1888) 1,786,100 »2E 122 42,867
OJls92(1383) 1,423,600& x8& « 12 136,666
OJIs10=28ss) 1,078,100 x5 «12& 64,686
OX<Hd 935,047,000 +1.8/100 16,831
a2 79,324
OFSI=atss 951,878,000 +1/12 79,324
02 =¢& 243,342 248,666 N5,324
OAIAZR+E 127,674
OFSEL 8,3128 *44Z «10Al 2+ 123 43,888
Ox1t= 8,3128 44 «15A| 2t 123 65,832
OLld2ZRA 8,312& 3B 60| 2tx 123 17,954
IESRUECS, 115,668
OJExE 36,855
- B AL 40,0002 «44&«0.78% 122 16,474
- RS 20,0003 »44H «1.48+12E 15,629
- JIEt 30,0002 x44E x0.3012& 4,752
OXtd stdl ==& 12,828
-E5d 51,400& *44&E 0. 19%42] 1,719
-ossd 420, 7903 x44H +0. 15%4 3] 11,109
Oodz2+=Eiitt= 34,920
- 25H01&f 130,000 x5 * 122 7,800
- 208 ~25E 012t 110,000& »7& «12& 9,240
- 15801 &~20= 0 2t 80,000 x6&H«12& 5,760
- 10801&f~15= 012 60,0002 x6&H * 12 4,320
- 580l &~10E 0 2t 50,0003 «13& 123 7,800
ORESRA+E 50,0002 x1&~12& 600
OllesRaA=+g
2,014,000% x7H x4.8/100 =128 8,121
OJlegR=¢ 8,640
- 55 50,000 x1&x128 600
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Hu: S AAY(ZEALAL A SLXL)(OIEHIIE)
Sl Q12| (S5l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
- 672 30,0002 %17 =122 6,120
- 8-92 20,0002 %82 122 1,920
OB E === 6,360
SOIAL ISR 30,0002 *15% * 122 5,400
- S|} 20,0002 *4% * 122 960
O=y4g 32,0002 %12 122 384
Ot F B2 4T 10,0002 x2 * 1224 240
ONSHSHLHHI YR+
40,0009+ 128 %122 5,760
OB+ Y(S3) 40,0009 +2% + 122 960
03 FuZAlH] 68,640 68,640 0
OZ A3 A 30,0009 442 122 68,640
04 DX 66,000 66,000 0
(1453 140,000 %1%+ 122 1,680
(6~72 30,0002 +20% * 122 31,200
182015t 20,0002 +23% * 12 33,120
05 YEEII %, 168 94,838 350
BEEEPIT 951,878,00081 1.2/ 12 %, 188
06 JHHIXIRH] 158,647 158,063 584
CIOFA X2 951,878,00081 2.0/ 12 58,647
07 @b Ay 50,239 49,395 844
(191 H2 48| 951,878,0002 /12+192*1/30 50,239
09 RIHAZZXERA 249,059 245,095 3,964
o123 98,541
Oc2E4+ 44,9809 62 x2552 68,820
O M2 38,8502 * 12 %2552 9,907
OBHE£BXR 38,8502 22 #2552 19,814
WSV E 98,541,00021%1/3 32,847
OF5+g 20,096
ozz=4d 44,9809 +6% #5224 14,034
OB M2 38,8502 #12 %522 2,021
On=pzzxe 38,8502 %2 #5224 4,041
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el 2| (el =3
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Oox=¢ 6,724
o223 44,9803 x6H 18 4,858
OF M2 & 38,8503 x 12 x182 700
OMNHHEE LR 38,850 x2H 15 1,166
Osg2f=¢ 23,462
OEzE+¥ 44,9803 x6H x1.5+45 18,217
OWHHEE X3 38,8503 x2H x1.5+45 5,245
O =l 95,0003 *9F »23| 1,710
(LN 48,600
4 EE 17,079
203 YPSRF=&H| 9,800 9,800 0
02 HBINFRF=EH 1,760 1,760 0
IESEC AP PN ESEE ] 40,0003 44 1,760
03 AIMFAHR =] 3,000 3,000 0
ONS S ZEHBAFE 3,000
04 RA2EIRF=LH 5,040 5,040 0
LoIE= 5,040
O30Z& 0l ot 350,000& 123 4,200
O=1= 5,000 x14H «12& 840
204 AP AH| 93,840 93,840 0
01 HMZSHRHAH 1,800 1,800 0
[PNEATS, 150,000 18128 1,800
02 Hg2X2H 66,240 66,240 0
5= 250,000 1 x 12 3,000
0e=2(0ls62) 155,000& 7 x12& 13,020
O7=2001s73) 140,000& «13H x 123 21,840
08=~9=2(2158~92) 105,000 *18H x 123 22,680
21102 95,0002 x5 =128 5,700
03 SHYR+HEZH 25,800 25,800 0
Oere syl 50,0003 43 <122 25,800
Jl=&Hl 797,060 675,487 121,573
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H: HESHAAY|(ZSSAHEANL A E2XA)(DIEHIIE
@ Jl23l
SA - EH . S(E) - NEAY - B O &b o a4
0] & o8
O2AMASE DI 700
OAAY 400,000& =24 800
OACE2EI|(AEHZHEZE 60,000
HOZE=(5E) 55,000
OgRExsEae 45,000
Oz AlsHE |2 600,000& =26 CH 15,600
O-ESTU (AT HMER) 1,500
OSAlA jpsEHl 2 (AU UXAIAE) 20,000
mEEA=PI 10,000
O A DI 7 (pc2HMS) 1,000,000 *10CH 10,000
OFADID R (HUAEDLIHS)
450,000& =104 4,500
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